Multiply and Divide by Positive Powers of Ten (G)

Find each product or quotient.

4,933 x 1,000 = 9.17 = 100 =
9.091 X 10 = 1.7 x 10 =

7.28 X 10 = 8.8927 x 100 =
6.846 X 10 = 9.3444 x 100 =
8.1311 =10 = 3.2+-10=
1.9536 - 10 = 2.6 1,000 =
0.6 X 100 = 6.59 X 10 =
9.8625 =100 = 6.13 + 100 =
412 x 10 = 8.6 +-10 =

89 +10= 6.98 =~ 10 =
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altiply and Divide by Positive Powers of Ten (G) Answe

Find each product or quotient.

4933 x 1,000 = 4,933

9.091 x 10 =90.91

7.28x10=72.8

6.846 X 10 = 68.46

8.1311 +-10=0.81311

1.9536 +- 10 = 0.19536

0.6 X100 =60

9.8625 =+ 100 = 0.098625

412 x10=41.2

89-+10=0.89

9.17 + 100 = 0.0917

1.7 x10 =17

8.8927 x 100 = 889.27

9.3444 X 100 = 934.44

3.2+10=0.32

2.6 +1,000 =0.0026

6.59 X 10 = 65.9

6.13 +- 100 =0.0613

8.6 +10=0.86

6.98 +~ 10 = 0.698
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